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bt & RiTET 28 32 315
JbifE B EET 28 31 287
FHE BhHTTH 28 30 1,205
FHE AFHET 27 31 1,107
FHE + FHT 28 32 4,219
FHE =FH 28 30 1,824
MHEE R F| ARt 27 31 3,438
Iz 2 EREHT 24 30 2,666
Iz 2 I 26 30 14,365
BER X WRHET 28 31 1,517
BER ESIIET) 30 34 2,196
TR (63 /=2=YA9:)\; 7} 27 31 46,224
TR ™ 28 32 40,291
TR AT 30 34 9,493
TR B 30 32 4,436
PN AR 26 30 46,991
PN B8t 27 31 5,157
PN WAL 27 31 14,387
PN FERE TH 29 33 47,799
HER AXHH 27 31 46,782
HER BET 27 31 8,387
HEER BREA 27 31 1,440
HER 3l 28 32 5,025
HER E R 29 33 90,846
BER TRE™ 30 34 8,004
FER fatam™ 26 30 502
FER B iﬁfé?; Ik 27 31 3,808
TER R FHET 27 31 518
FER T 28 32 2,343
allg AINE. ME™ 27 30 4,750
AINE INRTH 27 31 221
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IHEE SE ) 25 29 2,825
TR ELTEHET 27 31 9,992
TR KA 27 31 5,428
IHEE SEIETH 27 31 5,242
TR Jbxtmh 27 31 17,487
RHE RATH 27 31 2,913
RHE B HHIRHET 27 31 31,815
RHE I 5 BT 27 31 83
RHR tHEM 29 33 857
I & 18 BiEh 28 33 609
ZrE A 26 30 985
ZrE It 30 31 7,037
BHE E=p—Niil 27 30 96
=ER FREH 27 31 26,370
=ER FET 27 31 12,205
=58 tnREET™ 28 32 8,514
HER REM 29 33 6,392
RERRF 335 27 31 2,195
RERRF fEERTH 27 31 5,939
RERRF FR™ 27 31 1,097
ERE HET 27 31 20,115
feE] LI B e LUt 27 31 129,914
fE] LI ZILth 27 31 29,715
e LI 8 HIRh 27 31 4,304
e LI 8 HEEHT 27 31 2,010
fE] LI SEEFET 27 30 613
fE] LI A KT 27 31 273
fE] L2 FREETH 28 30 4,353
fE] LI SEKHT 28 32 3,388
fE] LI HPRT 29 33 11,542
LEE N1} 27 31 8,300
LEE EiEm 27 31 35,331
INZTH =& 28 32 9,220
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LOg W 30 34 6,635
mER Be] iR T 27 31 2,830
FRE EET 30 34 6,193
=R =IRE# 29 32 298
=R =) ET 30 34 1,056
& R iR, HE™ 27 31 269
fafE 8 iR, R 5™ 27 30 269
EER g 26 30 18,776
EER EER. BEH 27 31 11,960
EER ZAT™ 27 31 4,696
EER fiE T 27 31 23,698
ERE =Ea:) 27 31 6,434
EER LS 28 32 41,882
ERE HROEHT 28 32 76,111
EER A HHET 28 32 21,068
RIEE R 27 31 33,661
RIEE RET 30 34 20,250
N HHETH 27 31 10,714
= FEHT 25 30 1,743
= E = H#T 29 31 1,378
ERER wEM 26 30 26,228
ERER ERE™T 27 31 28,531
ERER tefE™ 28 32 8,053
ERER WEEE)II AT 28 32 44,305
ERESR e 28 31 27,262
9014 1,252,208




